. Unifiad Council.
| 'MATHEMATICS
n Write a possible -even number that can be placed in the

space below;

[ is less than 1230 but more than 1220 | 'Fr

(A) 1226 (B)1232  (C) 1212 D) 1154 o,

g’
E Which shape is made out of six Sq\ﬁlt‘e( (I ,.-1“ r

p (¢

B) Of I

H Find the missing number that place‘ %& question mark?

(A)4 < BJ6 (©)8 (D) 10

)&-‘t
=
e .l:!!
o]
“f.m. Y
ﬂ
@
(¢]
B
(=]
-]
[1¥)
-3

( (&) ﬁ ®) i \ © (D)‘ )

"There 40 match sticks in 2a match box. Sonia uses 3
match sticks every day. The fraction of match sticks she

used in'7 days is:
3 1 21
(5 o ®) 5 (© ™
UCN/2011/41 m
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Look at these numbers.

| L]
<
Which number is fifth from the right? ) / )
L]
(A)9 (B)5 ()2 D)4 '( > ('

In the picture given below, there is a basin oﬂ er ‘n‘l
the table, number of vertical lmes‘n the plc

(A)2 B)3 'H\cm (D)6

H What fraction of e hole figur does the unshaded
portion represeni-

C, ;\ '

-

N ®
2 7
(C) i (D) 3
8 8
D
UCN/ 2011/
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H Observe the figure I carefully. Now, use the same concept

to complete Figure I1.

4cm,4cm, 6cm, 6em, 6cm, 8¢
How many squares‘cin drawn' with the above

measurements? .' A
-

(A1 ® (€)0 (D)4

water is left in jug?

m F
8§ The wate fro‘: thejug is poured into 3 glasses. How much
“ ‘}

<% -

1

4 4

(A) 250 mi. (B)400mi (C)17350mi (D)27300m

UCN/201140 | . 38
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0! Three types of spacecrafts can be used to reach the Moon.

Type A weighs 12000 kg heavier than Type B. Type C
weighs 45000 kg and is 7500 kg lighter than Type B. What

1
is the weight of Type A spacecraft? “ ( (
4
(A)27500kg  (B)40500kg - (C)49500kg (D)64500kg 4 y ,/. ]

If P, Q & R are three weights, then what is the Welgltof \ 'F

a pineapple from the following figures ? o 4 gy
1 r
. -\
=3 L ( ‘F \
) )q )

(A)Ponly @3‘\Q only (ORonly - (D)Pand@

Mangoe a.l‘ 1131 in groups as shown below. Sneha
bought some s}x 1 and large Mangoes.

*‘(‘;J v
.'l‘ v
L
>
F Small Big
3 for Rs.2 2 for Rs.3
UCN/20 T1/1H | El
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Which of the following cannot be the number of mangoes

she bought?
(A)12 (B)10 (C)7 (D)6
: . 1 ‘.
Numbers in place of I, IL, III are respectively. *r by
¥
M

';.f‘ /
(A) 6248, 7248, 9248 (B) 786248, 6248
(C) 9248, 7248, 6248 (D) 624 , 924807248

. Arun wants to finish aﬂlks homewdrk before 8.00 pm.
He started doing hi hématics homework at 6. 30 pm
and it took him 45" inutes to finish it. He then spent
another 25 minutes doing his English homework. How
much time l-:ad e left for his Telugu homework?

(A) 0 minutes - p (B) 10 minutes
(C) 20 mifutes ) * (D) 30 minutes
Q 1
Sravant ‘ d 8 bags of peanuts. Each bag contained 156 '
Ppeanuts.
: v “Find the number* - : Wiy
‘ of peanuts | i
i Sravanthi had J T e i\_-i""_.'p.?"'ﬂ.~ e
‘ v A
Tap1284 (B) 1248 (C) 1842 (D) 1428
UCN/2011/1il m |'
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Figure I > ;

(C)10 (D) 4

UCN/2011/11 m
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ASS k&“ﬁ?&*ﬁ“"‘r :‘.&, El._r-bjhéiiy;—'?i:lhl: CH e 3‘:1 ST ahmﬁﬁﬁu‘“ﬂ t-‘-" =

| am anumber with the digits
0.1.3,5.

| em the greatest possible number
between 1000 cnd 2000,

1
What number om 12 ‘f h
-
ATy
ARG
- |
The mystery number is:

< x g
(A) 1035 (B) 1305 (CY150 (ﬂ)ﬂ’ 30

E What is the missing improper

J
- 2 5
0 1 | | | ;1 0 ] 14-_3- 1;_6_ 12
— i i | i i ] 1 y 1 L
0 1 2 5 3 7 4
3 3 6‘1 6 3 f
12 4'4 E 8 f 14
(A)E (B)%l (C)g (D) — 6

| Which of thg“;kwmg shapes can be divided into two

EQUAI: J;art

UCN/2011/11l
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E How many triangles are there in the figure given below?
\/ < d - O) ’ .)
¥

(A)9 (B) 20 ©11 m1iz

-
’ L
E If the length of rope needed to make border %-‘s 16 (3{?'
find the length of rope needed forxoﬁer Y.( . ":
e AN N
ﬁ — —

;g ° “ : ; i P 1 !

T s et fe L / .
Border X ‘- Border (—-
(A) 16 em (B) 20 %,’C) 22cm ! (D)24cm
4 ¢
' 8Smbcem= ,_um
A) 850 < 8005 (C)8050 D) 805
(A) | M\ D)

p ¢
E You hél;a 4gr‘géees. How much money will be left with

you ifyeu buy 2ice creams, 2 milky bars, one pen and one
burger? i ]

@/

E Rs.7 | BallRs.6 |lce cream Rs.5| Milky bar Rs.5 | Burger Rs. 10

[3 ®

""(f) 5 (B)8 €Y7 (D)11

UCN/2011/U1
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A chess game started at 9:30 a.m. The game lasted for 1

" hour 50 minutes and there was an interval of 25 minutes.
At what time did the game end?

(A) 10:20 a.m. (B)11:20 a.m. .
{C)11:45 a.m, (D) 12:15 p.m. r {

Karan bought 5 pieces of one of the items shown. Roh in

bought 7 pieces of another item. Both of them spe
same amount of money.

f f
Tt & RSN r
i ’FIQ/ NEN :
e g e % s,
B W i B ™Y ‘i\‘r"l ™
File Pencil Motebook
Rs, 70 Rs.7 Rs, 10

Identify the item Rohan bou
(A) Eraser (B) Pen (C) Pencil

John draws a figure tha *_ﬁve 51de Identify the figure
that John drew. |

(A) (!1%1\ ) (©) o -(D)

ﬂ The dlSl ce from the bus-stop to the restaurant is 2 kmm
870 m. T? n is standing 1 km 920 m from the bus-stop.

Bus sTo
v p Man Restaurant

/,f'/m__\\\

' Car-park

R IS Vg

Re;\‘r;;r:::{nt | -. >

O
UCN/2011/1I1
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Unifled Council

If the restaurant is 520 m from the car park, how far is

the man from the car park?

(A)1km 570 m
() 1km 470 m

e
If 5 tens are subtracted from 300 and divided by 25, thgn r’). }

guotient is:

(A)S

{A) Guru

m A quarter of of glhour =

(A)10

Ata

UCN/2011/II

(B)10

(B)1km 270 m
(D)1 km 370 m

(C)25

4N,

( (]5‘15

ontal s 20 litres of water. Anil wants exactly 2

ater, but he onl

: 11t-1'es
litre co er. Tell him ho
exactly?

()20

minutes.

(D)30

20 litres

7 litres

5 litres

]

‘“f

® E

a Who is holding a card with an even nu ber(;

)

o

(C) Madha(rl (D) Rekha

y has a 7-litre container and a 5-
w he can get 2 litres of water

www.examrace.com
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(A) Fill 5 litre contamer then use it to fill 7 litre container
(B) Fill 7 litre container then use it to fill 5 litre container
(C) Not possible to get 2 litre
(D) Fill 7 litre and 5 litres from 20 litres

E Manisha has 9 stalks of roses. 6 of them, are red. Thqr
are yellow.

1.!’\‘ !'
> (;)'

[

What fraction of the roses are red? /
Y
. , 4
)3 ® 2 X < 4 40) - (D) 3
ﬁ Identify the odd méout among the following figures.
1

(A)

E ;n a certgin year, the first day of the month of May falls

; Wednesday. What day was it on the 1st June of the
same year?

A)'Monday (B) Saturday
((L" Thursday (D) Friday

UCN/2011/111 m
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m Rahul went to market with Rs. 40.. He spent Rs. 6.50 on

bus fare, purchased a book for Rs. 11, a pen for Rs. 14.50.
He spent Rs. 8 for popcorn. How much money was left

with him? . ’: 4
: 1
[ |
(A)Rs. 21 (B)Rs. 12 AR /‘ 1
(C) He is left with no money (D)Rs. 13 .f y ' r
- |
o : ’
E Look st the diagram below. | s v >
¥ : ' o
¢
N
"
E 68 m
f
A ﬂt i
The total Heigh \of the tree and the boy is:
- L
(A) 35 ) ‘(B) 36 ()37 (D) 68
_. L b 1
Raju hf‘, s.four plates of laddoos. He wants to put them
(  equally fin four plates. What should be the number of
\ laddoosfin each plate ?
& -
n.( )
>
F
(A)3 (D)6
UCN/2011/HI ' |
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41 Which of the following things in the garden are alive?"

<\
¢
- ._T
- * 'J
_ N F
pE i #
(R \
< i Leav)as }1,1
(A)Pand Qonly B) oy
(C)Q and R only (D) ar S

The diagram given below represents process that takes

place in the presence of E}inhght
/‘JN .
i f

-

‘\ il
‘%

ot o

pE
oA
1‘ SRS

Al BN s
?/ The mai nction of this process is to help the living
things pr&&
(A) Water (B) Carbon dioxide
‘e SO Food (D) Nitrogen

E"The anir'lals given below are similar as they are;

\ o

"r

Goat Sheep

UCN/2011/1
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(A} Herbwores (B) Carnivores
(C) Insectivores (D) Omnivores

m Which of these can be found in our mouth?

I. Teeth
II. Saliva g §
onQUe 1) -(fy. }
(A) I and II only (B) ] and I1I only f \ > r”
(C)II and OI only (D)1, IT and 111 - )
E The two groups of animals in the table glven})élow ar;
classified accordmg to: L’ | 4
| Group X Gr' | )‘
Bat ; l' 4
Fox -'
Cat P'enguin '

{(A) The way they consume fq B) The way, h {ve
(C) Their body covering 0‘ ) The waytthey reproduce
t

The natural satellf he Earth 15(
{A) The Sun (B) The Moon
(C) Aryabhatta 1 (D) Venus

conditigns gle desert. Which part of the cactus is
main&v espo le for making food?

The plant stzﬂms a cactus. It is able to survive in harsh

(A) E only (B) Q only (C)R only (D) P and Q only

UCN/2011/11 m
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"L} The strong, sharp and hooked beak of an ea_gle is used to:

(A) crack open nuts and seeds(B) pick up and crush seeds
37 /

(C) tear the flesh (D) pull out insects from the;)

49 | Mary was walking along a grass field and accider

stepped on a mimosa plant. She noticed that the leaves }
of the mimosa plant closed up immediately. 4 4’

What does this tell you about the mimosa plant?, F
(A) The mimosa plant is a non-poisono nt (¢

(B) The mimosa plant responds to to » h ‘

(C) The mimosa plant is a poisonoyf” t L |

(D) The mimosa plant responds tofsunlight ’

Which of the following processes prbdjice energy?

(A) Digestion (B) Respir

(C) Melting {D)Evapora

m Why is watercycle imp snt to us?

(A) To recycle oxyge M the Earth toghe sky

{B) To recycle water m the Earth to the sky

(C) To recycle carbon dioxide from the Earth to the sky
(D) To recyclg Iﬁ%in from the Earth to the sky

Which of th(fol‘ ing is not a light source?
(A)Apl B) A star
(C) Thd (D) A burning candle

m Observe 1 ow chart given below. It represents an organ
( which talfes In oxygen and gives out carbon dioxide.

S WEXY;@
u.. L :
Identify'the organ.
(A) Small intestine (B) Kidneys
"'(fﬁ Lungs (D) Stomach
UCN/2011/11I m
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Which of the following carries oxygen to all parts of the body?

(A) The brain (B) The muscles
(C) The blood (D) The lungs

E Look at the food chain given below.

X | sl ""‘ﬁ\% : r:) ’ ‘l

._ FT
__ Caterpilar Bird ' { ‘g (
Choose the word which can complete the given food c}fﬁm" ; '
(A) Deer (B) Hen Ak NS
(C) Leaf GEEE I o r
m Which of the following gases is ppésent,more 11! zsfr?
(A) Oxygen (B) Ni n L
(C) Carbon dioxide (D) Hydrogen ’
The figure shows a constellation

£

What is its name‘L.. y
(A) Canis major‘ iOrion (C) Great Bear (D) Leo

)
E Aquatic ax?tll like fish get oxygen required for
respiration m;af :

(A) the oXygen iﬁ e air
(B) thelogygen digsolved in water
(Crthe oxygen in bubbles of air in water

(D) the c£bon dioxide dissolved in water.

There $0 many systems Working in your body. They all

have to work together to keep you alive, Which of the following
organs cpntrols and tells them what work they should do?

‘ i '-'|!ililfr:
L8 b ey T i
>/

(A) Wi Tl

Brain Stomach

UCN/2011/111
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Which of the following sense organs is able to detect sense

of touch?
(A) Tongue (B) Ear (C) Skin (D) Eye

m Which of the following life cycles shows the stages of
development in a flowering plant? h ‘

.r 3
Flower Seed 9 :}{ L]

AduH' plan'l'

Seed Adult pla m |= u,j ’
@) & P g
Iow & “
Fruit
/T )
Seed Adu plam‘
Adult plant Flower Seec; ’lower-
(C) ‘ P (D)

- ;
Frilm ‘ / Fruit

E Which of the following is FALSE about the birds given below?

g I
Ostrich
Ix: ) They lay eggs {B) They have feathers
C) They bave wings (D) They can fly

Which of the following groups is made up of only non-
‘lwing hings?
»(4) Dog, cat, caterpillar, maggot
(B) Rubber tree, latex gloves, jug, water
(C) Rock, frymg pan, soil, clay
(D) Clock, box, rose plant, paper
UCN/2011/1NI 52|
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An organism is able to reproduce and make its own food.
Which group does it belong to?

(A) Virus (B) Animals (C)Plants (D) Fungi
Which of the following basic needs of the plant is being * r
met in the picture given below? /
t
« o)
| .
"‘( 1 i\\. r
¢
)
(A) Air (B) Water (C)Food (D) Sunlight

mMatch each of the following Drgap§ with its

corresponding system?i j

Organ J Systemy §
(@) Brain w i) Circulatory system §

| (6) Xeﬁ\{

(c) 4%1

(i)

(i) ' Excretory system
(iii) Nervous system
(

() Kld% IV) DlgesTlve 5ysTem

l-l - ————

4 (A) a - 1il, ; i, c-iv,d -1 (B)a 111’b~1 C- 11“.d:'1v
( (C)a-11,§-1%c-1v,d-11 (D)a-1,b-iil,c-iv,d -1ii

ﬁ? Which offthe following animals though aquatic uses its

= ~dungs to breathe?
{A) Starfi (B) Whale (C) Shark (D) Jelly fish

- r:

UCN/2011/111 53]
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m Which of the followmg can be used to make bulldmgs"’

. | Bmcks :': -
. Cement | - .
. Send | _ﬂ;
Rubber . ( d »
§ - —oe e T
(A} T only (B) I and III only ' . r
(C)I, I and ITT only DILILMand TV X X7
E Which of the following is the har%st ubst {\
(A) Earthworm (B) Pencil .
(C) Coconlut tree (D) Tiger
. Look at the picture of a nest given below.
o
UCN/2011/111 m
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Identify the blrd whlch makes such nest?
(A) Owl : (B) Partridge
(C) Pigeon (D) Tailor bird

1
E The picture below shows a tent. - r (

L M
(A) Wood Metal
(B) Plastic Wood

(C) Plastic Metal
(D) Wood Cloth ‘« |
Which form of ene‘.‘jy ef_lables us tor;ee an object?
(A) Sound energ - (B) Chemical energy
(C) Light ent!-r '\ (D) Mechanical energy
Wthh firllowmg is a safety measure to avoid
acc i
(A)

gn lon clothes while cooking
(B) Wa gﬁsﬁully on wet tiles
(C) Flying kites upon the terrace
(D} Getting down from a moving bus

=1 Which df the following is least likely to change from a
solid state to a liquid state when heat is applied?

(A) Butter (B) Paper
> P) Ice (D) Candle wax
UCN/2011/11 55|
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KEY FOR THE Q.P.-2011
. A 2 C 3 A 4 C 6 D 6 C 7. A 8 A
9. D 10.C M. D 12D 13 A 14D 15 C 16 C
7.8 18.C 19. A 20D 21, A 22 A 23 B 24 D
25. D 26.D 27.C 28 B 208 30.C 31.B 32 A
33.B 34 B 35 B 36D 37.B 38 C 39 C 40 C
41 A 42.C 43. A 44 D 45D 46. B 47. B 48 C
49.B 50.B 51.B 52 A 53 C 54 C 55 C 56 B
57. A 58.B 59.B 60.C 61.D 62D 63 C 64 C
65. B 66.C 67.B 68 C 69.C 70.B 71. D 72D
73. C 74. B 75. B
4
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